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1. For the following frequency distibution .

A 15

B.10

C.20

D. 25



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Fbcm3YRBMGMq

Answer:

° Watch Video Solution

2. What is the probability of an impossible event?

A1l
1
B. —

C. wt difined

D.O

Answer:

° Watch Video Solution

3. If (3, —6) is the mid-poiint of the line segment joing

(0,0) and (z,y), then the point (z, y) is


https://dl.doubtnut.com/l/_Fbcm3YRBMGMq
https://dl.doubtnut.com/l/_7qKGb1BOkJxB
https://dl.doubtnut.com/l/_JXaJpvs8g3oS

B. (6, 6)

C. (6, —12)

D 5 3

3
Answer: C

° Watch Video Solution

4. The discriminant of the quadratic equation 42> — 6z + 3 = 0O/is

A 12
B. 84
C.2¢/3

D.—12

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_JXaJpvs8g3oS
https://dl.doubtnut.com/l/_rHpDA9Ju6nGK

5.In the given circle if Figure-1, number of tangents parallel to tangents

PQ is

P
N

° Watch Video Solution

6.8cot? A — 8cosec’A is equal to

|


https://dl.doubtnut.com/l/_rHpDA9Ju6nGK
https://dl.doubtnut.com/l/_1hAbHkcKK8G4
https://dl.doubtnut.com/l/_QPZOvgIpnBOQ

Answer: C

° Watch Video Solution

7. The point on x-axis which divides the line segment joining (2, 3) and
(6, — 9) in the ratio 1: 3 is

A (4, —3)

B. (6, 0)

C.(3,0)

D. (0, 3)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QPZOvgIpnBOQ
https://dl.doubtnut.com/l/_ffU8uXsZlkhY

8.If a pair of linear equations is consistent then the lines represented by
then are

A. parallel

B. intersecting or coincident

C. always councident

D. always intersecting.

Answer: B

o Watch Video Solution

9. The total surface area of a frustum-shaped glass nuber is (r; > 75)

A 7T1°1l -+ 7T1"2l
B.mwl(ry + 7ro) + 71'7'%

C. gﬂ'h’l’% + 72+ 717y

D\/h2 1—7“2)



https://dl.doubtnut.com/l/_2aTsLZJUlPJI
https://dl.doubtnut.com/l/_aDAVmiezkkZ0

Answer:

° Watch Video Solution

10. 120 can be expressed as a product of its prime factors as

A b Xx8x3

B.15 x 2°

C.10 x 10%> x 3

D.5 x 23 x 3

Answer:

° Watch Video Solution

11. Area of quadrilateral ABCD =Area of AABC + area of

° Watch Video Solution



https://dl.doubtnut.com/l/_aDAVmiezkkZ0
https://dl.doubtnut.com/l/_RfM1xvCWNItV
https://dl.doubtnut.com/l/_i1j6MHhUKhj2

12.if the radii of two spheres are in the ratio 2: 3, then the ratio of their

respective volumes is --------------- .

° Watch Video Solution

13.1f 2 is a zero of the polynomial az? — 2z, then the value of a is

° Watch Video Solution

14. A line intersecting a sirrcle in two points is called a

° Watch Video Solution

15. All squares are

A. congurent

B. similar


https://dl.doubtnut.com/l/_kYZDUiWAKFqB
https://dl.doubtnut.com/l/_Ik1UtN3q56yz
https://dl.doubtnut.com/l/_D1DUgkIsqfWn
https://dl.doubtnut.com/l/_N8WHo2pzcHy1

C. no similar and no congurent

D. none of these

Answer: B

° Watch Video Solution

16. A dice is thrown once, If getting a six, is a success, then find the

probability of a failure.

° Watch Video Solution

17. Find the value of x so that — 6, x, 8 are in AP

C.2

D.1


https://dl.doubtnut.com/l/_N8WHo2pzcHy1
https://dl.doubtnut.com/l/_8LyW4iITXj2n
https://dl.doubtnut.com/l/_HaMZQQNPSgoP

Answer: D

° Watch Video Solution

18.Find the 11" term of the AP. — 27, — 22, — 17, — 12,...

A. 24
B.34
C.23

D. 56

Answer: C

° Watch Video Solution

19. In the figure-2, the angle of elevation of the top of tower AC from a

point B on the ground is 60° . If the height of the tower is 20 m. find the



https://dl.doubtnut.com/l/_HaMZQQNPSgoP
https://dl.doubtnut.com/l/_koIItaaef78E
https://dl.doubtnut.com/l/_qukQiTeXV174

J./.
NN
RN

SRR
/u//ﬁ/ N :////////,
NN ﬂ/,ﬂ///,,,// N

%+ NN

N
N
NN
NN
N

Lo
s

N ////A N
ANENINN N AN, )
N ..:.//,,.,/,-//,W NN

S
’

ion
ion

distance of the point from the foot of the tower.

° Watch Video Solut

20. Evaluate

e}

tan40° x tanb50

° Watch Video Solut



https://dl.doubtnut.com/l/_qukQiTeXV174
https://dl.doubtnut.com/l/_WFWlI7NQjgDT
https://dl.doubtnut.com/l/_rjVZgTvWqOWv

21.If cos A = sin42°, then find the value of A.

o Watch Video Solution

22.Find the height of a cone of radius 5 cm and slant height 13 cm.

o Watch Video Solution

23. The value(s) of k for which the qudratic equation 222 + kx +2 =0

has equal roots, is

A 4

B.+4

D.O

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_rjVZgTvWqOWv
https://dl.doubtnut.com/l/_N9XBL5e3RDSz
https://dl.doubtnut.com/l/_ZDAo9AuVNXx4

24. Which of the followig is not an A.P?

A—1-2,0-82-8,..

B.3,3++/2,3+2y2,3+32,..

c 4 7 9 12
373’37 377
-1 -2 -3
D. , ,
5 5 5
Answer:

o Watch Video Solution

25. The radius of a sphere (in cm) whose volume is 127 em?,is

(A) 3


https://dl.doubtnut.com/l/_ZDAo9AuVNXx4
https://dl.doubtnut.com/l/_g0Ey3FNtXTNm
https://dl.doubtnut.com/l/_ajCfnFTr9Ut4

A3
B.3\/3
c.3%/3

D.3!/3

Answer:

° Watch Video Solution

26. The distance between the points (m,-n) and (-m,n) is

A. \/m2 —+ n?

Bm-+n
C.2\/m2 + n?
D. \/2’m2 + 2n?

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ajCfnFTr9Ut4
https://dl.doubtnut.com/l/_kK5OeRxkrsqq

27.If Figure-1, from an external point P, two tangents PQ and PR are drawn

to a circle of radius 4 cm with centre O. if ZQPR = 90°, then length of

PQ is

A.3cm


https://dl.doubtnut.com/l/_kK5OeRxkrsqq
https://dl.doubtnut.com/l/_rj9jNf8ApkUV

B.4cm
C.2cm

D.2+/2 cm

Answer:

° Watch Video Solution

28. On dividing a polynomial p(x) by z2- 4, quotient and remainder are

found to be x and 3 respectively. The polynomial p(x) is

A3z 4z — 12

B.z° — 4z + 3

Czl+3zx—4

D.z° — 4z — 3
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_rj9jNf8ApkUV
https://dl.doubtnut.com/l/_U1T2sMFKUPMN

AD 3
29.In figure-2, DE | | BC. If DE = 3 and AE = 2.7 cm then EC is

equal to
A.2.0cm
B.1.8 cm

C.40cm

D.2.7 cm

Answer: B

o Watch Video Solution

30. The point on the axis which is equidistant from (-4,0) and (10,0) is,
a) (7,0)

(b) (5,0)

c) (0,0)

d) (3,0)


https://dl.doubtnut.com/l/_U1T2sMFKUPMN
https://dl.doubtnut.com/l/_JSQz718eplDT
https://dl.doubtnut.com/l/_YmvaqaswPKFI

A. (7,0)

B. (5,0)

C.(0,0)

D. (3,0)

Answer:

o Watch Video Solution

31. The centre of a circle whose end points of a diameter are (-6,3) and
(6,4)

a) (8,-1)

A. (8,1)

B. (4,7)


https://dl.doubtnut.com/l/_YmvaqaswPKFI
https://dl.doubtnut.com/l/_T2CkB38NzwmH

“(+3)
2 (s3)

Answer:

o Watch Video Solution

32.the pair of linear equations

3x/2+5y/3 =7 and 9x + 10y =14 is
(a) consistent

(b) inconsistent

(c) consistent with one solution

(d) consistent with many solutions

A. consistent

B. inconsistent

C. consistent with one solution

D. consistent with many solutions


https://dl.doubtnut.com/l/_T2CkB38NzwmH
https://dl.doubtnut.com/l/_o8Hg7Nn0aByd

Answer:

o Watch Video Solution

33.In figure-3, PQ is tangent to the circle with centre at O, at the point B.

if ZAOB = 100°,then ZABP is equal to

A.50°

B.40°

C.60°

D.80°


https://dl.doubtnut.com/l/_o8Hg7Nn0aByd
https://dl.doubtnut.com/l/_a9bSSRJzFzSi

Answer:

° Watch Video Solution

34. Simplest form of (1+ tan?A)/(1+'cot 2'A) IS

o Watch Video Solution

35.If the probability of an event E happening is 0.023, then P(F?)=

° Watch Video Solution

36. All concentric circles are..... to each other.

o Watch Video Solution

37.The probability of an event that is sure to happen, is

| o=


https://dl.doubtnut.com/l/_a9bSSRJzFzSi
https://dl.doubtnut.com/l/_MDiTBc5DI2Fc
https://dl.doubtnut.com/l/_jf7nF1nPOrHi
https://dl.doubtnut.com/l/_5fYd2iI3P2lo
https://dl.doubtnut.com/l/_LMI3ImFi0fiM

l & Watch Video Solution J

38. AOBC is a rectangle whose three vertices are A(0,-3), 0(0,0) and B (4,0).

The length of its diagonal is__

° Watch Video Solution

39, Write the value of sin® 30° + cos260°.

° Watch Video Solution

40. Find a quadratic polynomial, the sum and product of whose zeroes

are —3 and 2, respectively.

o Watch Video Solution

41. Can (:1:2 — 1) be a remainder while dividing z* — 32* + 5z — 9byx"2

+ 3" justify your amswer with reasons.


https://dl.doubtnut.com/l/_LMI3ImFi0fiM
https://dl.doubtnut.com/l/_M1rLOsprEk8v
https://dl.doubtnut.com/l/_ATIcYNLo5vo5
https://dl.doubtnut.com/l/_ohAjj6YYGowN
https://dl.doubtnut.com/l/_kkPZkzPZ8BuO

° Watch Video Solution

42.Find the sum of the first 100 natural numbers.

° Watch Video Solution

43. The LCM of two numbers is 182 and their HCF is 13. If one of the

numbers is 26, find the other.

° Watch Video Solution



https://dl.doubtnut.com/l/_kkPZkzPZ8BuO
https://dl.doubtnut.com/l/_jwugWUTtYBN7
https://dl.doubtnut.com/l/_1Act9qx46ExC

44.
If figure, the angle of elevation of the top of a tower from a point C on
the ground which is 30 m away from the foot of the tower, is 30°. Find th

height of the tower.

o Watch Video Solution

1. In Figure 3, AABC and AXY Z are show. If

AB = 3cm, BC = 6cm, AC = 2v/3cm, /A = 80°, /B = 60°, XY = 4,/.


https://dl.doubtnut.com/l/_Y5xW0cylaOmz
https://dl.doubtnut.com/l/_qiJLJW2HzEh0

then find the value of /Y.

o Watch Video Solution

2. Find the mean for the following distribution :

° Watch Video Solution

3. The following distribution shows the transport expenditure of 100

empolyess :

400 - 600

2
2

1600 00| 600 - 1000 1000 - 1200

wsatdib sy ,
| VTSN Z‘%}W

7

o i
Numiwr ot \ N ;
clovbes : 2 5

4:{4‘11'3



https://dl.doubtnut.com/l/_qiJLJW2HzEh0
https://dl.doubtnut.com/l/_W2SDAZDoCdDY
https://dl.doubtnut.com/l/_L7kcDDvfrE8Q

° Watch Video Solution

4.solve for z: 22* + 5,/52 — 15 = 0

° Watch Video Solution

5. Check whether 6™ can end with the digit 0 (zero) for any natural

number n .

° Watch Video Solution

5sinf — 0 1
6.I1f 5tanf = 4, show that an 3 cos = —
5sin@ + 3cos 6 7

° Watch Video Solution

7. 14 defective bulbs are accidentally mixed with 98 good ones. It is not

possible to just look at the bulb and tell whether it is defective or not.


https://dl.doubtnut.com/l/_L7kcDDvfrE8Q
https://dl.doubtnut.com/l/_vdrtDbq2WKB1
https://dl.doubtnut.com/l/_jekBUdN2TYGb
https://dl.doubtnut.com/l/_ZU8C7anz0Akt
https://dl.doubtnut.com/l/_74gBFnnyyI88

One bulb is taken out at random from this lot. Determine the probability

that the bulb taken out is a good one.

° Watch Video Solution

_ 1
8. if tan(A + B) = /3 and tan(A — B) = — ,

V3
0( <)A+ B(<)90°, A( > )B,then find the values of A and B.

° Watch Video Solution

9. If a letter is chosen at random from the English alphabet, find the

probability that the letter chosen is (i) a vowel, and (ii) a cansonant.

° Watch Video Solution

10. Solve for x :

V3z? + 14z — 53 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_74gBFnnyyI88
https://dl.doubtnut.com/l/_vnAWJFYB1kB7
https://dl.doubtnut.com/l/_W4mqT5Z5VayB
https://dl.doubtnut.com/l/_Y5ryDyz1SOIz

11. Find the mean for the following distribution :

Frequency

L G
L

RSSEA

° Watch Video Solution

12. The following distribution shows the transport expenditure of 100

exployees :

Find the mode of the distribution.

o Watch Video Solution

13. Check whether 6" can end with the digit O for any natural number n .

o Watch Video Solution



https://dl.doubtnut.com/l/_Y5ryDyz1SOIz
https://dl.doubtnut.com/l/_z7wlJSDutzVr
https://dl.doubtnut.com/l/_ZmqgXcTYtOd1
https://dl.doubtnut.com/l/_LFk0ZQrfntCU

14. Find the LCM of 150 and 200.

° Watch Video Solution

15.1n figure -3, A ABC and /A XY Z are shown. if AB =3 CM,BC =6 cm,
AC=2,/3cm,ZA=80°,ZB=60° ,XY=4,/3cm,YZ=12CM and XZ= 6

cm, then find the value of Y


https://dl.doubtnut.com/l/_LFk0ZQrfntCU
https://dl.doubtnut.com/l/_bGrusB7Ybe0h
https://dl.doubtnut.com/l/_BXC8oSQzY7f1

o Watch Video Solution

16. A cone and a cylinder have the same radii but the height of the cone is

3 times that of the cylinder. Find the ratio of their volumes.

| o Wiak A \NtAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_BXC8oSQzY7f1
https://dl.doubtnut.com/l/_CiLIbQZKH1ZX

| ¢ YVULLIL VIMLUY JUVIVLGIVEL

17.In Figure, a quadrilateral ABCD is drawn to circumscribe a circle .

Prove that

i
7

AB+CD = BC + AD
s
,,; o

i

7 , / /

o Watch Video Solution



https://dl.doubtnut.com/l/_CiLIbQZKH1ZX
https://dl.doubtnut.com/l/_TilaMcEUXZ6J

18.In Figure , find the perimeter of AABC. If AP =12 cm.

° Watch Video Solution

19. Find the mode of the following distribution :

o Watch Video Solution



https://dl.doubtnut.com/l/_7x81bAV8X2PK
https://dl.doubtnut.com/l/_8YtuELxQuWan
https://dl.doubtnut.com/l/_RvPdpWqVLuA4

. QB DR
20.In F ,IfP BC and PR || CD, that — = —.
n Figure , If PQ || BC an || CD, prove tha 10 ~ AR

o Watch Video Solution

21. Show that 5+2\/7 is an irrational number, where \/7 is given to be an

irrational number.

o Watch Video Solution

22. Check whether 12" can end with the digit O for any natural number n.

| o Wiak A \NtAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_RvPdpWqVLuA4
https://dl.doubtnut.com/l/_mEGjSXyfmBNC
https://dl.doubtnut.com/l/_mxjcufWUnc42

8 YVULLIL VIVMLUD JUVIVGIVIL J

1. krishna has an apple orchard which has a 10m x 10m sized kitchen
garden attached to it . She divides it into a 10 x 10 grid and puts soil and
manure into it She growns a lemon plants at . A a coriander plants at B,
an onion plants at C and a tamato plants at D. Her bushand Ram prasied
her kitchen graden and points out that on joining A, B, C, and D they may
form a paralleleogram Look at the below. figure carefully and answer the

following question.


https://dl.doubtnut.com/l/_mxjcufWUnc42
https://dl.doubtnut.com/l/_9Ad7elVCAS4P

-t

i

1 e o ; 4 ]

[T RS SR N S S
R T R R S I B

-

(i) Write the coordinates of the points AB, C and D using the 10 x 10 grid

as coordinate axes.

g

4 10

(ii) Find whether ABCD is a paralleogram or not .

° Watch Video Solution

2. Prove that /3 is an irrational number.

° Watch Video Solution



https://dl.doubtnut.com/l/_9Ad7elVCAS4P
https://dl.doubtnut.com/l/_i3fyh3feAArO
https://dl.doubtnut.com/l/_ChLTFRkOPe6Y

3. Prove that :

tan@ N cot 0
1— cot@ 1 — tan@

=1+ cos 0 cos ec

o Watch Video Solution

4.3 THE gl Bl FASITY 5 cm TAT 3 cm G R &, I8 g Pl 39 Sftar HI dars
ITd BT 571 Bl g HF W2f acll & |

o Watch Video Solution

5. The difference between two numbers is 26 and the larger number

exceeds thrice of the smaller number by 4. Find the numbers.

A. 38,12

B. 40,14

C.371n

D. none of these


https://dl.doubtnut.com/l/_ChLTFRkOPe6Y
https://dl.doubtnut.com/l/_x6kwSjiDyoDg
https://dl.doubtnut.com/l/_jToxT9bIJbcI

Answer: C

° Watch Video Solution

6.Solve for x and y:

2 3 5
_+_:13,__£
Ty

iy —2(z # 0 and y # 0)

A (2,3)

Bll
E,g

C. (4, 6)
> (55

Answer: B

o Watch Video Solution

7. In Figure -4 AB, and CD are two diameters of a circle with centre O

perpendiclualr to each other and OD is the diameter of the circle . If OA =


https://dl.doubtnut.com/l/_jToxT9bIJbcI
https://dl.doubtnut.com/l/_WqSZHamuRbrk
https://dl.doubtnut.com/l/_YPovAf2kMVLu

7 cm, then find the carea of the shaded region .

H

P

g

PRI i 0y

DAL 2
DG

° Watch Video Solution

8. In Figure ABCD is a square with side 7 cm. A circle is drawn

circumscribing the square . Find the area of the shaded region .


https://dl.doubtnut.com/l/_YPovAf2kMVLu
https://dl.doubtnut.com/l/_96axaCgIBW2F

s,
. %///‘////////Z&,)
S

° Watch Video Solution

9. Construct a trinagle with its side 4 cm 5 cm and 6 cm . Then construct a
2
triangle similar to it whose sides are 3 of the correspoding sides of the

first trinagle .

° Watch Video Solution

10. Draw a circle of radius 2.5cm. Take a point P at a distance of 8 cm from

its centre. Construct a pair of tangents from the point P to the circle.



https://dl.doubtnut.com/l/_96axaCgIBW2F
https://dl.doubtnut.com/l/_BIdr3MoX4WvC
https://dl.doubtnut.com/l/_dpivfbfwDUHX

| @ Watch Video Solution J

11. If the sum of first 7 terms of an AP is 49 and that of 17 terms is 289, find

the sum of first n terms.

Answer: A

° Watch Video Solution

12. Construct a triangle of sides 4 cm, 5 cm and 6 cm and then a triangle
2
similar to it where sides are §Of the corresponding sides of the first

triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_dpivfbfwDUHX
https://dl.doubtnut.com/l/_uDTPbVgFKPBy
https://dl.doubtnut.com/l/_TVyZkbpCEPVJ

13. Draw a circle of radius 2.5cm. Take a point P at a distance of 8 cm from

its centre. Construct a pair of tangents from the point P to the circle.

° Watch Video Solution

14. If the n'® terms of two APs 23, 25, 27, .... And 5, 8, 11, 14, ...are equal,

then find the value of n.

° Watch Video Solution

15. If Figure - 4, AB and CD are two diameter of a circle (with centre O)

perpendicular to each other and OD is the diameter of the smaller circle.


https://dl.doubtnut.com/l/_TVyZkbpCEPVJ
https://dl.doubtnut.com/l/_OvStDqLqphex
https://dl.doubtnut.com/l/_mmURN26mVOvd
https://dl.doubtnut.com/l/_LjYqCF1hllbw

IF OA =7 cm, then find the area of the shaded region.

o Watch Video Solution

16. In Figure - 5, ABCD is a square with side 7 cm A circle is drawn

circumscribing the square. Find the area of the shaded region.


https://dl.doubtnut.com/l/_LjYqCF1hllbw
https://dl.doubtnut.com/l/_2dfJHksCyTDJ

SO

NN

o Watch Video Solution

17. Prove that opposite sides of a quadrilateral circumscribing a circle

subtend supplementary angles at the centre of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_2dfJHksCyTDJ
https://dl.doubtnut.com/l/_2OyxXeT0t4QR

18. Krishna has an apple orchard which has a 10m x 10m sized kitchen
garden attached to it. she divides it into a 10 x 10 grid and puts soil and
manure into it. she grows a lemon plant at A, a coriander plant at B, an
onion plant at C and a tomato plant at D. Her husband Ram praised her
kitchen garden and points out that on joining AB,C and D they may form
a parallelogram. look at the below figure carefully and answer the
following questions: (i) write the coordinates of the points AB,C and D
using the 10 x 10 grid as coordinate axes. (ii) find whether ABCD is a

parallelogram or not.

o Watch Video Solution



https://dl.doubtnut.com/l/_kxVRG9nlHN4r
https://dl.doubtnut.com/l/_2M8ZIF5RSfbj

19. FAgfefEd Faafiei o Rig Hifsie:

cos A 1+sind

= 2sec A.
1+sind + cos A sec

° Watch Video Solution

20. Prove that /3 is an irrational number.

° Watch Video Solution

21. The difference between two numbers is 26 and the larger number

exceeds thrice of the smaller number by 4. Find the numbers.

° Watch Video Solution

22.Solve for z and y:

2 3 ) 4
:c+y 3’x ” (x # 0 and y # 0)

° Watch Video Solution



https://dl.doubtnut.com/l/_2M8ZIF5RSfbj
https://dl.doubtnut.com/l/_E1Jb59vWPVuP
https://dl.doubtnut.com/l/_tRdb5PklvJeL
https://dl.doubtnut.com/l/_pLM9vcjWft7e

23. if A, B and C are interior angles of a /A ABC, then show that

B+C\ . (A
COs 5 =Ssin 7

° Watch Video Solution

24. Prove that :

(sin4 0 — cos*0 + 1) cosec’d = 2

° Watch Video Solution

25.Find the sum :

(=85 + (-8 +(—11)+.... +(—230)

° Watch Video Solution



https://dl.doubtnut.com/l/_pLM9vcjWft7e
https://dl.doubtnut.com/l/_5NQWELfvyngE
https://dl.doubtnut.com/l/_oiSs0IXrMhEk
https://dl.doubtnut.com/l/_ext6jkjgn4SW

26. Construct a AABC with sides BC = 6 cm, AB = 5 cm and

3
ZABC = 60°. Then construct a triangle whose sides are 1 of the

corresponding sides of AABC.

o Watch Video Solution

27. Draw a circle of radius 3.5 cm. Take a point P outside the circle at a
distance of 7 cm from the centre of the circle and construct a pair of

tangents to the circle from the point.

o Watch Video Solution

28. In Figure , ABCD is a prallelogram. A semicircle with centre O and the

diameter AB has been drawn and it passes through D. If AB = 12 cm and


https://dl.doubtnut.com/l/_BMKUzmzMbpJR
https://dl.doubtnut.com/l/_H82wDSoXZ1V0
https://dl.doubtnut.com/l/_gkWbMnnRmGYF

OD L AB.Then find the area of the shaded region. (Use m = 3.14)

° Watch Video Solution

29. Read the following passage and answer the questions given at the
end :

DIWALI FAIR

A game in a booth at Diwali Fair involves using a spinner first. Then, If
spinner stops on an Even Number, the player is allowed to pick a marble
from the bag. The spinner and Marbles are represented in Figure. Prizes
are given when a black marble is picked. Shweta played the game once.

(i) what is the probability that she will be allowed to pick a marble from

the bag.


https://dl.doubtnut.com/l/_gkWbMnnRmGYF
https://dl.doubtnut.com/l/_HKcxPginufA7

(i) Suppose she is allowed to pick a marble from the bag. what is the
probability of getting a prize, when it is given bag contains 20 balls out of

which 6 are black.

o Watch Video Solution

1
30. A fraction becomes 5 when 1is subtracted from the numerator and it

1
becomes 1 when 8 is added to its denominator. Find the fraction.

o Watch Video Solution

31. The present age of a woman is 3 years more than three times the age
of her daughter. Three years hence, the womans age will be 10 years,

more than twice the age of her daughter. Find their present ages.



https://dl.doubtnut.com/l/_HKcxPginufA7
https://dl.doubtnut.com/l/_I1RuzAU0uqfw
https://dl.doubtnut.com/l/_zozd72Awmlhy

I ° Watch Video Solution

32.Find the ratio in which the y-axis divides the line segment joining the

points (6,-4) and (-2, -7). Also find the point of intersection.

° Watch Video Solution

33. Show that the points A(7, 10), B(-2, 5) and C(3, -4) are the vertices of an

isosceles right-angled triangle.

° Watch Video Solution

34. Use Euclid's division lemma to show that the square of any positive

integer is either of the form 3m or 3m + 1for some integer m.

° Watch Video Solution



https://dl.doubtnut.com/l/_zozd72Awmlhy
https://dl.doubtnut.com/l/_xqes552pKutM
https://dl.doubtnut.com/l/_nM3vLamOq8JR
https://dl.doubtnut.com/l/_EuSXSqMm9MGx

.3
1. Two water taps together can fill a tank in 9§hours. The tap of larger
diameter takes 10 hours less than the smaller one to fill the tank

separately. Find the time in which each tap can separately fill the tank.

o Watch Video Solution

2. A rectangular park is to be designed whose breadth is 3 m less than its
length. Its area is to be 4 square metres more than the area of a park that
has already been made in the shape of an isosceles triangle with its base

as the breadth of the

o Watch Video Solution

3. Find the curved surface area of frustum of a cone of height 12 cm and

radii of circular ends are 9 cm and 4 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_94zWUGF73JQH
https://dl.doubtnut.com/l/_3q0wV6aAJho8
https://dl.doubtnut.com/l/_9ZaFWBLW4Kv6

4.Draw a less than ogive for the following frequency distribution.

° Watch Video Solution

5.'1f a line is drawn to one side of a triangle to intersect the other two
sides in distinct points, prove that the other two sides are divided in the

same ratio.

° Watch Video Solution

6. In Figure -6 , in an equilateral triangle ABC, AD is perpendicular to BC,

BE is perpendicular to AC and CF is perpendicular to AB . Prove that


https://dl.doubtnut.com/l/_O8t3VGmxTImG
https://dl.doubtnut.com/l/_UVxCCSSywZ4B
https://dl.doubtnut.com/l/_Yt7gF8qehBje

4(AD? + BE? + CF?) = 9AB

° Watch Video Solution

7. Find other zeroes of the polynomial

p(z) = 3z* — 42% — 1022 + 8z + 8, if two its zeros are V2 and — /2.

° Watch Video Solution



https://dl.doubtnut.com/l/_Yt7gF8qehBje
https://dl.doubtnut.com/l/_BPyT89Sttp02

8. Divide the polynomial g(z) = z* — 32> + 2 + 2 by the polynomial

22 — 2z 4 1 and verify the division algorithm.

o Watch Video Solution

9. A TV-tower stands vertically on a bank of a canal. From a point on the
other bank directly opposite the tower, the angle of elevation of the top
of the tower is 60°. From another point 20 m away from this point on the
line joining this point to the foot of the tower, the angle of elevation of
the top of tower is 30° (see fig.) . FInd the height of the tower and the

width of the canal.

o Watch Video Solution

10.&@%#@@@1&0&5@3@9%8@@94?@% | § I Tl I
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https://dl.doubtnut.com/l/_BkseVILmeohN
https://dl.doubtnut.com/l/_opUxCZ1ntz7G
https://dl.doubtnut.com/l/_7hBZj2zrM3Jb
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11. Arectangular park is to be designed whose breadth is 3 m less than its
length. Its area is to be 4 square metres more than the area of a park that
has already been made in the shape of an isosceles triangle with its base

as the breadth of the

o Watch Video Solution

12. A cylindrical bucket, 32 cm high and with radius of base 18 cm, is filled
with sand. This bucket is emptied out on the ground and a conical heap
of sand is formed. If the height of the conical heap is 24 cm, find the

radius and slant height of the heap.

o Watch Video Solution

13. From a point of a bridge across a riuver, the angles of depression of

the banks on opposite sides of the river are 30° and 45°, respectively. IF


https://dl.doubtnut.com/l/_7hBZj2zrM3Jb
https://dl.doubtnut.com/l/_rnzVVLjvxkci
https://dl.doubtnut.com/l/_u0Cx2EGc1Lxm
https://dl.doubtnut.com/l/_XWinXQjXm30y

the bridge is at a height of 10 m from the banks, then find the width of

the river. (Use /3 = 1.73)

° Watch Video Solution

14.If a line is drawn to one side of a triangle to intersect the other two
sides in distinct points, prove that the other two sides are divided in the

same ratio.

° Watch Video Solution

5. In figure - 6 in an equilateral triangle ABC,

AD | BC,BE 1 AC and CF 1 AB. Prove that


https://dl.doubtnut.com/l/_XWinXQjXm30y
https://dl.doubtnut.com/l/_eCtYxxzpLNuF
https://dl.doubtnut.com/l/_mnM9BpxulHAl

4(AD? + BE® + CF?) = 9AB?

et

° Watch Video Solution

16. Find other zeros of the polynomial
p(z) = 3z* — 42® — 102® + 8z + 8

if two of its zeroses are /2 and — /2

° Watch Video Solution



https://dl.doubtnut.com/l/_mnM9BpxulHAl
https://dl.doubtnut.com/l/_KBEXPOmqDoel
https://dl.doubtnut.com/l/_PdnWtFfoMr8u

17. Divide the polynomial g(z) = z* — 3z® + = + 2 by the polynomial

22 — 2z + 1 and verify the division algorithm.

° Watch Video Solution

18. Sum of the areas of two squares is 544m?. If the difference of their

perimeters is 32 m. find the sides of two squares.

° Watch Video Solution

19. A motor boat whose speed is 18 km/h m still water takes 1 hour more
to go 24 km upstream than to return downstream to the same spot. Find

the speed of the stream.

° Watch Video Solution

20. The distribution given below shows the number of wickets taken by

bowlers in one-day cricket matches . Find the mean and the median of the


https://dl.doubtnut.com/l/_PdnWtFfoMr8u
https://dl.doubtnut.com/l/_8M8MBPMaYofC
https://dl.doubtnut.com/l/_RGojifelux9b
https://dl.doubtnut.com/l/_LlT1tDdMkKRR

number of wickets taken

o Watch Video Solution

21. A statue 1.46m tall, stands on the top of the a padestal. From a point
on the ground the angle of the elevation of the top of the statue is 60°
and from the same point, the angleo elevation of the top of the pedestal

is 45° . Find so the height of the pedestal. [Use /3 = 1.73]

o Watch Video Solution

22. Obtain other zeroes of the polynomial

p(z) = 2z* — 2% — 1122 + 5z + 5 if two of its zeroes are v/5 and — /5.

o Watch Video Solution



https://dl.doubtnut.com/l/_LlT1tDdMkKRR
https://dl.doubtnut.com/l/_EX4Oiv01AZ3P
https://dl.doubtnut.com/l/_C7Z4ixvuDuBa
https://dl.doubtnut.com/l/_Ykl3dNnAZtiO

23. What minimum must be added to 2z° — 3z% + 6z + 7 so that the

resulting polynomial will be divisible by z? — 4z + 8?

° Watch Video Solution

24. In a cylindrical vessel of radius 10 cm, containing some water, 9000
small spherical balls are dropped which are completely immersed in water
which raises the water level. If wach spherical ball is radius 0.5 cm , then

find the rise in the level of water in the vessel.

° Watch Video Solution

25.If a line is drawn to one side of a triangle to intersect the other two
sides in distinct points, prove that the other two sides are divided in the

same ratio.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ykl3dNnAZtiO
https://dl.doubtnut.com/l/_Gb3fhpr6p5nl
https://dl.doubtnut.com/l/_p2vFe8hhQxdh

1.If (-3,-6) is the mid point of the line segment joining (0,0) and (x,y), then

the point (xy) is
(A) (-3,6)
(B) (6,6)
(C) (6/12)
(D) (3/2,-3)
A. (-3,6)

B. (6,-6)

C.(-6,12)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_jw5ShfjvqNvf

2. In the given circle if Figure-1, number of tangents parallel to tangents

PQ is

A.O0

B. many

C.2

D.1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_T5M96gcufWmw

3. The discriminant of the quadratic equation 42> — 6z +3 =0is (A) 12
(B) 84 (C) 24/3 (D) -12

A 12

B. 84

C.2V/3

D. —12

Answer:

° Watch Video Solution

4. For the following frequency distribution

The upper limit of median class is

A. 15


https://dl.doubtnut.com/l/_xZf3peXU3FYt
https://dl.doubtnut.com/l/_K9FJvFhM1Dpz

B.10

C.20

D. 25

Answer:

o Watch Video Solution

3
5.1fcos A = %, 0° < A < 90° ,then Ais equal to

3
A V3
2
B.30°
C.60°

D.1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_K9FJvFhM1Dpz
https://dl.doubtnut.com/l/_Hxzt18OTpNfD
https://dl.doubtnut.com/l/_CHulT3PDdKGZ

6. The probability of an impossible event is 0 (b) 1 (c) 1 /2 (d) non-existent

Al

Bl
2

C. Not defined

D.O

Answer:

o Watch Video Solution

7.1f a pair of linear equations is consistent, then the lines represented by

them are

A. parallel

B. intersecting or coincident

C. always coincident

D. always intersecting


https://dl.doubtnut.com/l/_CHulT3PDdKGZ
https://dl.doubtnut.com/l/_45s4A1ZXP0ph

Answer:

° Watch Video Solution

8.the distance between the points (3, — 2) and ( — 3, 2) is

A. /52 units
B. 4,/10 units
C. 2,/10 units

D. 40 units

Answer: A

° Watch Video Solution

9.180 can be expressed as a product of its prime factors as

A 10 x 2 x 32


https://dl.doubtnut.com/l/_45s4A1ZXP0ph
https://dl.doubtnut.com/l/_cETJd03YLP0U
https://dl.doubtnut.com/l/_t6b6BM1pQpi8

B.25 x4 x 3

C.22%x32x5

D.4x9 x5

Answer:

o Watch Video Solution

10. The total surface area of frustum shaped glass tumbler is (r1( > )rs)
(@) mril + mral

(b) wl(ry 4 7r3) + 7(ry)?

A rol + mral
B.mwl(ry + r2) + 71'7"%

1
C. gwh(r% + r% + r1r2)



https://dl.doubtnut.com/l/_t6b6BM1pQpi8
https://dl.doubtnut.com/l/_wT07T44KcylE

Answer:

° Watch Video Solution

11.1f 2 is a zero of the polynomial az®> — 2z then the value of a is ......

o Watch Video Solution

12.if the radii of two spheres are in the ratio 2: 3, then the ratio of their

respective volumes is ------------ :

o Watch Video Solution

13. Aline intersecting a circle in two points is called a

° Watch Video Solution



https://dl.doubtnut.com/l/_wT07T44KcylE
https://dl.doubtnut.com/l/_YDGVgSZMRJy4
https://dl.doubtnut.com/l/_Fu6F4LHJzbZO
https://dl.doubtnut.com/l/_GgJxby90K6hm

14.if ar(( A )PQR) is zero, then the points P,Q and R A are ——-———- :

o Watch Video Solution

15. All squares are ___. (congruent/similar)

o Watch Video Solution

16. A coin is tossed twice, the probability of getting head both the times

is

o Watch Video Solution

17.Find the radius of the sphere whose surface area is 36mem?.

o Watch Video Solution



https://dl.doubtnut.com/l/_rKy5TIxfDQns
https://dl.doubtnut.com/l/_hT59HUXz0JTa
https://dl.doubtnut.com/l/_PAc1yNmvUyCv
https://dl.doubtnut.com/l/_Q9ktvb0Payl5

18. Find the value of x so that — 6, =, 8 are in AP

° Watch Video Solution

19.Find the 11 term of the AP. — 27, — 22, — 17, — 12......

° Watch Video Solution

20. In figure , the angle of elevation of the top of a tower AC from a point

B on the ground is 60° . If the height of the tower is 20 m, Find the


https://dl.doubtnut.com/l/_DWSDaMB9rrgH
https://dl.doubtnut.com/l/_UaqgJnETwrqV
https://dl.doubtnut.com/l/_SyXZv7MHDgmF

distance of the point from the foot of the power .

on

o Watch Video Solut

x tan50°

(e}

21. Evaluate tan 40

o Watch Video Solution



https://dl.doubtnut.com/l/_SyXZv7MHDgmF
https://dl.doubtnut.com/l/_0jxSVZuXbDTi

22.1f cos A = sin42°, then find the value of A.

o Watch Video Solution

1. The value(s) of k for which the quadratic equation 2z + kz 4+ 2 = 0

has equal roots, is

A 4

B.+4

D.0

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_f0ycHzNKvmLh
https://dl.doubtnut.com/l/_AipD5ucOWbma
https://dl.doubtnut.com/l/_7m6nzFn8Q5CI

2. Which of the following in notan A.P.?

A —1.2,08,28,......

B.3.3, +v2,34+2v2,34+3V2,......

1
,?,...
-1 -2 -3
57575

A7
333

Answer:

o Watch Video Solution

3.In From an external point P, Two tangents PQ and PR are drawn to a

circle of radius 4 cm with centre O . If ZQPR = 90° then length of PQ is


https://dl.doubtnut.com/l/_7m6nzFn8Q5CI
https://dl.doubtnut.com/l/_j0RZuUEPaV8A

A.3cm

B.4cm
C.2cm

D. 24/2cm

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_j0RZuUEPaV8A

4.The distance between the points (m,-n) and (-m,n) is

(A) \/m2 +n?

(B) m+n
(©) 2\/m2 +n?
(D) v/2m? + 2n?

A. m2 + n2

Bm-+n
C.2\/m2 + n?
D. \/2m2 + 2n?

Answer:

o Watch Video Solution

5. A quadratic polynomial, whose zeroes are — 3 and 4, is


https://dl.doubtnut.com/l/_j0RZuUEPaV8A
https://dl.doubtnut.com/l/_YFZjIlbqJP5X
https://dl.doubtnut.com/l/_cRjwMm4hOP4X

A2

B.1

C. more than 3

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_cRjwMm4hOP4X

6. In figure ABC is an isosceles triangle , right angled at C . Therefore

’,’/’r
% %"

“,
oy

N

v
A
&
?
7
7
7
/
%
%

A AB? = 2AC?

B. BC? = 2AB?

C.AC? = 2AB?
D. AB? = 4AC?
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_iOg9oCVvBDcE

7.The point on the axis which is equidistant from (-4,0) and (10,0) is ,
a) (7,0)

(b) (5,0)

c) (0,0)

d) (3,0)

Answer:

o Watch Video Solution

8.The centre of a circle whose end points of a diameter are (-6,3) and (6,4)

a) (8,1)


https://dl.doubtnut.com/l/_iOg9oCVvBDcE
https://dl.doubtnut.com/l/_G0esXZ0eqcwL
https://dl.doubtnut.com/l/_Y9VGK5HI4FC5
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Answer:

o Watch Video Solution

9.the pair of linear equations
3x/2+5y/3 =7 and 9x + 10y =14 is
(a) consistent

(b) inconsistent

(c) consistent with one solution

(d) consistent with many solutions


https://dl.doubtnut.com/l/_Y9VGK5HI4FC5
https://dl.doubtnut.com/l/_OK6pSrqpMkNC

A. consistent

B. inconsistent

C. consistent with one solution

D. consistent with many solutions

Answer:

o Watch Video Solution

10. In figure PQ is tangent to the circle with centre at O at the point B, if

ZAOB = 100°,then ZABP is equal to



https://dl.doubtnut.com/l/_OK6pSrqpMkNC
https://dl.doubtnut.com/l/_wfzGTCbZM295

A.50°

B.40°

C.60°

D.80°

Answer:

o Watch Video Solution

11. The radius of a sphere (in cm) whose volume is 127 cm3, is
(A) 3

(B)3+/3

B.3./3

c.32/3


https://dl.doubtnut.com/l/_wfzGTCbZM295
https://dl.doubtnut.com/l/_U5UMXwlWs3uk

D.3!/3

Answer:

° Watch Video Solution

12. Can (m2 — 1) be a remainder while dividing z* — 322 + 5z — 9 by

z? + 3 justify your answer with reasons.

° Watch Video Solution

13. Find the sum of the first 100 natural numbers.

° Watch Video Solution

14. Evaluate :

2sec30° X tan60°

° Watch Video Solution



https://dl.doubtnut.com/l/_U5UMXwlWs3uk
https://dl.doubtnut.com/l/_U0H6qyHQ9P8D
https://dl.doubtnut.com/l/_0qFXV5yPYl2q
https://dl.doubtnut.com/l/_M6iCV8GwLajH

15. The angle elevation of the top of a tower from a point C on the
ground. Which is 30 m away from the foot of the tower is 30° . Find the

height of the tower.

H JOom

° Watch Video Solution

16. In Figure, a quadrilateral ABCD is drawn to circumscribe a circle .

Prove that


https://dl.doubtnut.com/l/_M6iCV8GwLajH
https://dl.doubtnut.com/l/_9C4JIwSWQV9O
https://dl.doubtnut.com/l/_QnFObqWmIGE9



https://dl.doubtnut.com/l/_QnFObqWmIGE9

17. Find the perimeter of AABC, if AP=12 cm

° Watch Video Solution

18. How many cubes of side 2 cm can be made from a solid cube of side 10

cm?

° Watch Video Solution



https://dl.doubtnut.com/l/_KpT81W6rGuU0
https://dl.doubtnut.com/l/_D7boFPBa1lkZ

19. In the given figure, DE||AC and DF||AE.
Prove that BF _ BE
FE  EC

A

[~
L~

o Watch Video Solution

20.Show that 5+2\/7 is an irrational number, where \/7 is given to be an

irrational number.

o Watch Video Solution



https://dl.doubtnut.com/l/_K66lHzMCXjg5
https://dl.doubtnut.com/l/_88yAMEkjhZxf

21. Check whether 12" can end with the digit 0 for any natural number n.

° Watch Video Solution

22.If A,B and C are interior angles of a AABC, then show that
. B+ C _ A
co 5 = tan 5 )

o Watch Video Solution

23.In Figure , a square OPQR is inscribed in a quadrant OAQB of a circle. If

the radius of circle is 64/2 cm, find the area of the shaded region


https://dl.doubtnut.com/l/_pw9puF06uUG9
https://dl.doubtnut.com/l/_JI1kGe1jWod6
https://dl.doubtnut.com/l/_BibuBmqKwQ1G

° Watch Video Solution

24.Draw a triangle ABC with side BC =6 ¢cm, AB =5 cm and ZABC = 60°.
3
Then construct a triangle whose sides are 1 of the corresponding sides

of the triangle ABC.

° Watch Video Solution



https://dl.doubtnut.com/l/_BibuBmqKwQ1G
https://dl.doubtnut.com/l/_rP4PhzTcbpz7

25. Draw a circle of radius 3.5 cm . Take a point P outside the circle at a
distance of 7 cm from the centre of the circle and construct a pair of

tangents to the circle from the point.

° Watch Video Solution

2cos® 6 — cos
26. Prove that : = cot @

sinf — 2sin® 0

° Watch Video Solution

27. A fraction become 1/3 when 1 is subtracted from the numerator and it

becomes 1/4 when 8 is added in the denominator. Find the fraction.

o Watch Video Solution

28. The present age of a father is three years more than three times the

age of the son. Three years hence, fathers age will be 10 years more than


https://dl.doubtnut.com/l/_iW4rSdkKes1L
https://dl.doubtnut.com/l/_UanhuSfSeFar
https://dl.doubtnut.com/l/_wJjXI86U0sfy
https://dl.doubtnut.com/l/_KD20DTZEAtMq

twice the age of the son. Determine their present ages.

A. 1343

B. 11,34

C. 10,33

D. 12,45

Answer: C

° Watch Video Solution

29. Using Euclid's Algorithm, find the largest number which divides 870

and 258 leaving reminder 3 in each case .

o Watch Video Solution

30. find the ratio in which the y-axis divides the line segment joining the

points (6,-4) and ( -2,77 ). also find the point of intersection.

[ o |


https://dl.doubtnut.com/l/_KD20DTZEAtMq
https://dl.doubtnut.com/l/_JIiFBU5oDMv7
https://dl.doubtnut.com/l/_1ZiGDKWvrs3R

[ ¥ Watch Video Solution J

31. Show that the points A(7, 10), B(-2, 5) and C(3, -4) are the vertices of an

isosceles right triangle.

° Watch Video Solution

32.In an AP. given that the first term (a) = 54, the common difference (d) =
-3 and the n'" term (a,,) = 0, find n and the sum of first n terms (S,,) of

the AP.

o Watch Video Solution

33. Read the following passage and answer the questions given at the
end :

DIWALI FAIR

A game in a booth at Diwali Fair involves using a spinner first. Then, If

spinner stops on an Even Number, the player is allowed to pick a marble


https://dl.doubtnut.com/l/_1ZiGDKWvrs3R
https://dl.doubtnut.com/l/_WTMy2iwHhBJO
https://dl.doubtnut.com/l/_1X6hofHHHzw8
https://dl.doubtnut.com/l/_qtigb8MmZkBN

from the bag. The spinner and Marbles are represented in Figure. Prizes
are given when a black marble is picked. Shweta played the game once.

(i) what is the probability that she will be allowed to pick a marble from
the bag.

(i) Suppose she is allowed to pick a marble from the bag. what is the
probability of getting a prize, when it is given bag contains 20 balls out of

which 6 are black.

o Watch Video Solution

34. Sum of the ares of two squares is 544 m?. if the difference of their

perimeters is 32. find the sides of two squares.

o Watch Video Solution



https://dl.doubtnut.com/l/_qtigb8MmZkBN
https://dl.doubtnut.com/l/_OiVFMp7M688P
https://dl.doubtnut.com/l/_hEtF2f92VC7r

35. U HIeR e, fSRydh! fBR 57t & 91et 18 km/h &, 24 km &RT & Ufadpd 314,
TEI G &RT I 3P ST bl 3798 1 HeT 31AE Tt & URT Bl 1 SiTd HifaT |

o Watch Video Solution

36. A solid toy is in the form of a hemisphere surmounted by a right
circular cone of same radius. The height of the cone is 10 Cm and the
radius of the base is 7 cm. Determine the volume of the toy. Also find the

area of the coloured sheet required to cover the toy. (Use # = 22 /7 and

V149 = 12.2)

o Watch Video Solution

37. For the following data, draw a 'less than' ogive and hence find the

median of the distribution.
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https://dl.doubtnut.com/l/_hEtF2f92VC7r
https://dl.doubtnut.com/l/_vZyQXGDgxyoT
https://dl.doubtnut.com/l/_UIjpcdcBDObJ
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38. the distribution given below shows the number of wickets taken by
bowlers in one-day cricket matches. find the mean and the median of the

number of wickets taken

o Watch Video Solution

39. From a point on the ground the angles of elevation of the bottom and
top of a transmission tower fixed at the top of 20m high building are 450

and 600 respectively. Find the height of the transmission tower.

o Watch Video Solution



https://dl.doubtnut.com/l/_UIjpcdcBDObJ
https://dl.doubtnut.com/l/_DnHicCrucbna
https://dl.doubtnut.com/l/_m5eau12mjfVG

40. PYTHAGORAS THEOREM : In a Right angled triangle; the square of

hypotenuse is equal to the sum of the squares of the other two sides.

° Watch Video Solution

41. Obtain other zeroes of the polynomial

p(z) = 2z* — 2° — 112? + 5z + 5 if two of its zeroes are /5 and — /5.

° Watch Video Solution

42. What minimum must be added to 2z% — 322 + 6z + 7 so that the

resulting polynomial will be divisible by 2> — 4z + 8?

° Watch Video Solution



https://dl.doubtnut.com/l/_Dwnl3KBR6f8i
https://dl.doubtnut.com/l/_XljFehVIp5cs
https://dl.doubtnut.com/l/_j4ddyTLHkl3Z

